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14. Let W be the vector ﬁrﬂ (r,p.2) 3 -z +

(a) Is W conservative?

(M—V)&((h’v-ﬂ v r: +usl
ghxplmunh\ it f automatipully troe that ( ) =2 -ry- v e

autorn that ivergence-free, and then verify that this is troe by
(‘nlrlllnmng h(‘ divergence of W

(e) Set that calculates the outward flux of W through the surface
) 3): ~x* ~ 3" and y > 0}.

- {(:.y..).y-—!) -

(f) Set up a line integral that calculates the same as in the previous question.
(g) Compute the integral in the previous question.

(h) How would this integral be related to the upward Aux of W through the disk {(r.y.2) : 27 + 7 < 9.y =0}?
Explain the relation and the reason, without calculation.
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